128 BEE B fHI#R B % =* 20214128198 (8)

BETILT{ESER
[ —#DE ] [2=7-LT4RDER ]
JIE L K £ NET HDCP TOTAL ouUT I'N OUT NET [t K £ NET HDCP TOTAL ouT I'N OUT NET
BB = 68 6 74 (39 35 ) 360 3 SINITIE 65 15 80 ( 39 41 ) 315
o FEE B4 70 14 84 (41 43 ) 340 o e ER 65 21 86 (44 42 ) 335
3 AEE Bk 70 28 98 (49 49 ) 350 3 A EA 70 13 83 ( 43 40 ) 365
A R FIE 71 25 96 ( 46 50 ) 335 A HEA R 70 20 90 (47 43 ) 370
5 Bt s 71 20 91 (46 45 ) 360 5l %M SE—EB 71 17 88 (44 44 ) 355
6 M Bk 71 19 90 (51 39 ) 415 6 M % 71 24 95 (49 46 ) 370
M HE E= 72 24 96 (45 51 ) 330 7h A RE 72 19 91 (43 48 ) 335
8  AA HE— 72 18 90 (45 45 ) 360 8t BT B 72 30 102 ( 49 53 ) 340
ot A A 72 18 90 (46 44 ) 370 ofr  BIE M= 72 18 90 ( 44 46 ) 350
100 Rfg B= 73 28 101 (46 55 ) 320 106 HA =& 72 15 87 (44 43 ) 365
1 B AT 73 14 87 (43 44 ) 360 1R & 72 17 89 ( 46 43 ) 375
1260 kB EH 73 30 103 (51 52 ) 360 126 FE =— 72 20 92 (48 44 ) 380
130 MR B— 73 19 92 (46 46 ) 365 136 B BT 72 15 87 ( 46 41 ) 385
140 H=@ EX 73 10 83 (44 39 ) 390 140 BEA R 73 23 96 ( 46 50 ) 345
150 %48 BA 74 16 90 (44 46 ) 360 166 0% 5% 73 12 85 (41 44 ) 350
160 # R 74 12 86 (44 42 ) 380 166 Bk B— 73 25 98 ( 48 50 ) 355
176 WA & 74 13 87 (45 42 ) 385 176 BB BRI 73 15 88 (44 44 ) 365
180 FEM H— 74 13 87 (45 42 ) 385 186 #E %@ 73 18 91 (48 43 ) 390
196 %55t 8 75 6 81 (41 40 ) 380 196 MLt #H— 73 15 88 (48 40 ) 405
206 ER g2 76 24 100 (49 51 ) 370 206 BIE 74 22 96 (51 45 ) 400
306 KT A 77 20 97 (49 48 ) 390 0 EAEBH 78 16 94 (46 48 ) 380
40K o BN 78 14 92 (51 41 ) 440 40 S FIA 80 30 110 ( 59 51 ) 440
50 Ei =& 81 24 105 ( 50 55 ) 380 BOfr 7S BT 83 28 111 (56 55 ) 420
6O B A 83 11 94 (48 46 ) 425
706 K& —iE 85 8 93 (47 46 ) 430
80f @3 R 88 21 109 (51 58 ) 405
BBE /Ml F— 92 21 113 (59 54 ) 485 BBY ZEH=— 87 19 106 (55 51 ) 455
BGE a2 74 (39 35 ) Par 72 A—AL—t  Z2A—TL—t
BiE(E) 6606 vyard 713 128
B(E) 6237 yard 695 123
BiE(4) 5892 vyard  68.1 119
BiE(%) 5281 vyard 649 114
L (%) 5281 yard 701 123
L (F) 4878 vyard 678 119




